

NAME: SAKA YETUNDE BODUNKIN

MATRIC NO: 15/ENG01/016

DEPARTMENT: CHEMICAL ENGINEERING

COURSE CODE: ENG 301

1. If $y = e^{x^2+n}$, show that $y'' = y'(2x+1) + 2y$ and hence prove that
$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

Soln

$$y = e^{x^2+n}; u = e^{x^2+n}; v = 1$$

$$u^n = (2x+1)^n e^{x^2+n}; v^{(1)} = 0$$

$$u^{(n-1)} = (2x+1)^{(n-1)} e^{x^2+n}$$

$$y^{(n)} = u^{(n)} v + n u^{(n-1)} v^{(1)}; y^{(n)} = (2x+1)^n e^{x^2+n}$$

let $n=1$

$$y^{(1)} = (2x+1)^1 e^{x^2+n}; u = e^{x^2+n}; v = 2x+1$$

$$u^{(1)} = (2x+1)^1 e^{x^2+n}; v^{(1)} = 2$$

$$u^{(n-1)} = (2x+1)^{n-1} e^{x^2+n}; v^{(2)} = 0$$

$$y^{(n)} = (2x+1)^n e^{x^2+n} \cdot (2x+1) + n(2x+1)^{n-1} e^{x^2+n} \cdot 2$$
$$= (2x+1)(2x+1)^n e^{x^2+n} + 2n(2x+1)^{n-1} e^{x^2+n}$$

let $n=1$

$$y'' = (2x+1)(2x+1)^1 e^{x^2+n} + 2 \cdot 1 \cdot (2x+1)^0 e^{x^2+n}$$

$$y'' = (2x+1)(2x+1)^1 e^{x^2+n} + 2e^{x^2+n}$$

Substitute $y = e^{x^2+n}$ and $y' = (2x+1)^1 e^{x^2+n}$ in y''

$$y'' = (2x+1)y' + 2y$$

$$\underline{y'' = y'(2x+1) + 2y}$$

This can also be written as

$$y^{(2)} = y^{(1)}(2x+1) + 2y$$

$$y^{(n)} = u^{(n)} v + n u^{(n-1)} v^{(1)}$$

$$y^{(n+2)} = y^{(n+1)} \cdot (2x+1) + \dots$$

$$\dots + n y^{(n)} \cdot 2 + y^{(n)} \cdot 2$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2ny^{(n)} + 2y^{(n)}$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^{(n)}$$

$u = y^{(1)}$	$v = 2x+1$	$u = y$	$v = 2$
$u^n = y^{(n+1)}$	$v' = 2$	$u^n = y^n$	$v' = 0$
$u^{(n-1)} = y^{(n)}$	$v'' = 0$		

NAME: JARA YETUNDE BOJUNFIN

MATRIC NO: 15/ENG 01/016

DEPARTMENT: CHEMICAL ENGINEERING

COURSE CODE: ENG 281

2 Using the Leibnitz Theorem

i $y = x^3 e^{4x}$, determine $y^{(5)}$

$$u = e^{4x}; v = x^3$$

$$u^{(n)} = 4^n e^{4x}; v^{(1)} = 3x^2$$

$$u^{(n-1)} = 4^{n-1} e^{4x}; v^{(2)} = 6x$$

$$u^{(n-2)} = 4^{n-2} e^{4x}; v^{(3)} = 6$$

$$u^{(n-3)} = 4^{n-3} e^{4x}; v^{(4)} = 0$$

$$y^{(n)} = u^{(n)} v + n u^{(n-1)} v^{(1)} + \frac{n(n-1)}{2!} u^{(n-2)} v^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^{(3)}$$

$$y^{(5)} = 4^5 e^{4x} \cdot x^3 + 5 \cdot 4^4 e^{4x} \cdot 3x^2 + \frac{5 \cdot 4 \cdot 3}{2!} \cdot 4^3 e^{4x} \cdot 6x + \frac{5 \cdot 4 \cdot 3 \cdot 2}{3!} \cdot 4^2 e^{4x} \cdot 6$$

$$y^{(5)} = 1024 x^3 e^{4x} + 3840 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

$$y^{(5)} = 64 e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

ii $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$, show that $x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^{(n)} = 0$

$$x^2 y'' + x y' + y = 0 \Rightarrow x^2 y^{(2)} + x y^{(1)} + y^{(0)} = 0$$

$u = y^{(2)}$	$v = x^2$	$u = y^{(1)}$	$v = x$	$u = y^{(0)}$	$v = 1$
$u^{(n)} = y^{(n+2)}$	$v^{(1)} = 2x$	$u^{(n)} = y^{(n+1)}$	$v^{(1)} = 1$	$u^{(n)} = y^{(n)}$	$v^{(1)} = 0$
$u^{(n-1)} = y^{(n+1)}$	$v^{(2)} = 2$	$u^{(n-1)} = y^{(n)}$	$v^{(2)} = 0$		
$u^{(n-2)} = y^{(n)}$					

$$y^{(n)} = u^{(n)} v + n u^{(n-1)} v^{(1)} + \frac{n(n-1)}{2!} u^{(n-2)} v^{(2)}$$

$$y^{(n)} = y^{(n+2)} \cdot x^2 + n y^{(n+1)} \cdot 2x + \frac{n(n-1)}{2!} y^{(n)} \cdot 2 + y^{(n+1)} \cdot x + n y^{(n)} \cdot 1 + y^{(n)} \cdot 1$$

$$y^{(n)} = x y^{(n+2)} + 2n x y^{(n+1)} + n(n-1) y^{(n)} + x y^{(n+1)} + n y^{(n)} + y^{(n)}$$

$$y^{(n)} = x^2 y^{(n+2)} + 2nx y^{(n+1)} + x y^{(n+1)} + (n^2 - n) y^{(n)} + n y^{(n)} + y^{(n)}$$

$$y^{(n)} = x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - x) y^{(n)} + (x+1) y^{(n)}$$

$$y^{(n)} = x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)}$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^{(n)} = 0$$